& doubtnut

India's Number 1 Education App

PHYSICS

BOOKS - MBD -HARYANA BOARD

CURRENT ELECTRICITY

Very Short Answer Type Questions

1. Explain with a neat circuit diagram how will

you determine unknown resistance 'X' by using

meter bridge.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WVkKcMbnmNik

° Watch Video Solution

2. How many electrons pass in one second

when current is 1 A?

o Watch Video Solution

3. Explain the Kirchhoff's Junction rule.
OR.

What is Kirchhoff's junction rule?

o Watch Video Solution



https://dl.doubtnut.com/l/_WVkKcMbnmNik
https://dl.doubtnut.com/l/_CH5AtVqRTwi4
https://dl.doubtnut.com/l/_Ufbt4eeHjRrc

4. On what factors does the resistivity of a

material depend ?

° Watch Video Solution

5. What is specific resistance and resistivity of

a wire? Is it more for thick or thin wire?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ufbt4eeHjRrc
https://dl.doubtnut.com/l/_zrdY9IGRnKvM
https://dl.doubtnut.com/l/_2XctcTT9t68N

6. Define conductance and conductivity.
Or.
Define electrical conductivity of a conductor

and give its S.I. unit.

° Watch Video Solution

7. When drift velocityis so small, how is it that
an electric bulb lights up as soon as we turn

the switch on?

° Watch Video Solution



https://dl.doubtnut.com/l/_VCOdJtZHLV3Z
https://dl.doubtnut.com/l/_b2mbcynpMIWC

8. Explain the Ohm's law.

° Watch Video Solution

9. What happens to the drift velocity (vg) of
electrons and to the resistance (R), if the
length of a conductor is doubled (keeping

potential difference unchanged)?

o Watch Video Solution



https://dl.doubtnut.com/l/_b2mbcynpMIWC
https://dl.doubtnut.com/l/_d5HclRs1lHzG
https://dl.doubtnut.com/l/_4D1jcTPPoWSB
https://dl.doubtnut.com/l/_D56dZOoCHZ0S

10. Draw the circuit diagram for wheatstone
bridge to determine unknown resistance.

Write condition for balancing of the bridge.

o Watch Video Solution

11. Distinguish between resistance and specific

resistance.

° Watch Video Solution



https://dl.doubtnut.com/l/_D56dZOoCHZ0S
https://dl.doubtnut.com/l/_p4LPcRwaCD4P

12. Establish a relation between E.M.F. and

potential difference of a cell.

° Watch Video Solution

13. Draw the circuit diagram to determine
unknown resistance using meter bridge. Write
the equation used for determining the

unknown resistance.

o View Text Solution



https://dl.doubtnut.com/l/_gJGQjmZ049fs
https://dl.doubtnut.com/l/_owg8QuQ1J8cH
https://dl.doubtnut.com/l/_fFnJH51riT64

14. A wire is drawn into double its length and
half its original cross-section. What will be
change in its resistance and specific
resistance?

Or.

A wire of resistivity p is stretched to twice its

length. What will be its new resistivity ?

o Watch Video Solution

15. Internal resistance of a cell depends on

o Watch Video Solution



https://dl.doubtnut.com/l/_fFnJH51riT64
https://dl.doubtnut.com/l/_XSvHzJTAo1zI

16. A wire of resistance 1€) is stretched to

double its length. What is the new resistance ?

o Watch Video Solution

17. Name two conditions when ohm's law fails?

o Watch Video Solution



https://dl.doubtnut.com/l/_XSvHzJTAo1zI
https://dl.doubtnut.com/l/_UxT8YcCpGxFr
https://dl.doubtnut.com/l/_2athRQf5MMHB

18. Define resistance of a conductor. What is its
cause? Explain the factors on which the

resistance of a conductor depends.

o Watch Video Solution

19. A carbon resistor has coloured strips as

shown is figure. What is its resistance ?

Violet
Yellow Brown (sold

| €8 l


https://dl.doubtnut.com/l/_XjWRxKnm3SFk
https://dl.doubtnut.com/l/_ZxEcKM835pHK

L Watch Video Solution J

20. Compare ohmic and non-ohmic

conductors.

o Watch Video Solution

21. A wire of resistance 2() is stretched so that

its radius is halved. Determine its new

resistance.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZxEcKM835pHK
https://dl.doubtnut.com/l/_VIN7SPOrX42e
https://dl.doubtnut.com/l/_BZOEGImrbXIr

22. State the working principle of
potentiometer. With the help of the circuit
diagram, explain how a potentiometer is used
to compare the emf's of two primay cells.
Obtain the required expression used for
comparing the emfs. Write two possible
causes for one sided deflection in a

potentiometer experiment.

o Watch Video Solution



https://dl.doubtnut.com/l/_fz42iNHOQXcO

23. Point out the right statements about the

validity of, Kirchhoff's junction rule

o Watch Video Solution

24.The Sl units of resistivity is

o Watch Video Solution

25. The Sl unit of electric current is

o Watch Video Solution



https://dl.doubtnut.com/l/_CghrJuzHzkJ9
https://dl.doubtnut.com/l/_lSJameVnAbiF
https://dl.doubtnut.com/l/_f6yPeJpP7mvk

26. What is Kirchhoff's loop rule.

o Watch Video Solution

27. What is Kirchhoff's loop rule.

o Watch Video Solution

28. How much current flows through a 2kf2

resistor when a potential difference of 4V is


https://dl.doubtnut.com/l/_f6yPeJpP7mvk
https://dl.doubtnut.com/l/_jJfGDwSYLBCd
https://dl.doubtnut.com/l/_PloGV9VO8RJk
https://dl.doubtnut.com/l/_OEhQD3Yif4cU

applied across its ends?

o Watch Video Solution

Short Answer Type Questions

1. Deduce Ohm's law using the concept of drift

velocity.

° Watch Video Solution



https://dl.doubtnut.com/l/_OEhQD3Yif4cU
https://dl.doubtnut.com/l/_Wv8eyyHnubMf

2. Using Ohm's law, calculate the resistance of
combination of few resistances joined in

series.

o Watch Video Solution

3. A conductor of length | is connected to
a.d.c.,, source of potential V. if the length of the
conductor is tripled by stretching it, keeping V
constant, explain how to the following factors

vary in the conductor?


https://dl.doubtnut.com/l/_shZMgMyzR9j2
https://dl.doubtnut.com/l/_mxL8HWT53DV8

(1) Drift speed of electrons
(ii) Resistance

(iii) Resistivity.

o Watch Video Solution

4. Drive expression for the total resistance of a
circuit in which a few resistors are connected

in parallel.

o Watch Video Solution



https://dl.doubtnut.com/l/_mxL8HWT53DV8
https://dl.doubtnut.com/l/_LCclLCrQ59Z6

5. What do you mean by internal resistance,
e.m.f. (electromotive force) and terminal
potential difference of a cell? Derive a relation

between the three. How will you determine it?

o Watch Video Solution

6. Explain how the cells are grouped in series,
Obtain the condition for maximum current

through an external resistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_CRnwVhpe9msj
https://dl.doubtnut.com/l/_pnYA2BhxzdAx

7. Explain how the cells are grouped in parallel.
Obtain the condition for maximum current

through an external resistor.

° View Text Solution

8. Define resistivity of a material and discuss

the factors on which it depends.

o Watch Video Solution



https://dl.doubtnut.com/l/_pnYA2BhxzdAx
https://dl.doubtnut.com/l/_SQyGWULygYDu
https://dl.doubtnut.com/l/_SuSwbZKKubvl
https://dl.doubtnut.com/l/_Ye1YgvyuQXZb

9. Explain the combination of resistances

series and parallel.

o Watch Video Solution

Long Answer Type Questions

1. What is Kirchhoff's loop rule.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ye1YgvyuQXZb
https://dl.doubtnut.com/l/_ttyFzYcba49N

2.What is potentiomter ? What is its principle
? How will you find the internal resistance of a

cell by a potentiometer?

o Watch Video Solution

3. Explain the use of potentiometer for

comparison of e.m.f. of two cells.

° View Text Solution



https://dl.doubtnut.com/l/_U0BgJaxISruv
https://dl.doubtnut.com/l/_R13hYRGQcFsa

4. (a) Derive a relation between electric
current and drift velocity of charge carriers.
9b) Deduce the expression for resistivty.

(c) What is the effect of temperature on

resistivity?

o View Text Solution

5. Explain the use of a metre bridge for finding

unknown resistance.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZVMFQmutPHp1
https://dl.doubtnut.com/l/_khrRj1cJzyT0

6. Write a note on grouping of cells.

o Watch Video Solution

Objective Type Questions

1. One kilowatt hour is equal to

A. 36 x 10°J

B.36 x 10°J

C.36 x 10°%J


https://dl.doubtnut.com/l/_khrRj1cJzyT0
https://dl.doubtnut.com/l/_zckdLxu1uTFK
https://dl.doubtnut.com/l/_lsEqitm8ZbP1

D.36 x 10 %J

Answer: A

° Watch Video Solution

2. The area of cross-section of a metal wire is
doubled, keeping its length same, then its

resistance is:

A. No change

B. doubled


https://dl.doubtnut.com/l/_lsEqitm8ZbP1
https://dl.doubtnut.com/l/_uRxriujEyh3a

C. four times

D. halved

Answer: D

O Watch Video Solution

3. With increse in temperature, the

conductivity of a conductor

A. remains same

B. decreases


https://dl.doubtnut.com/l/_uRxriujEyh3a
https://dl.doubtnut.com/l/_OaczpHQ1KDwK

C. increases

D. may increase or decrease

Answer: B

o Watch Video Solution

4. The potential difference applied to an X-ray
tube is 5 kV and the current through it is 3.2
mA. Then the number of electros striking the

target par second is


https://dl.doubtnut.com/l/_OaczpHQ1KDwK
https://dl.doubtnut.com/l/_ZareSdAvpkmn

A 2 x 1016

B.5 x 10°

C.1 x 10"

D.4 x 109

Answer: A

° Watch Video Solution

5. The equivalent resistance between the

points X and Y of the following circuit is


https://dl.doubtnut.com/l/_ZareSdAvpkmn
https://dl.doubtnut.com/l/_8GyEs07cT8R5

100

109

A. 1012

B. 3012

C. 200

D. 50(2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8GyEs07cT8R5

6. Calculate the amount of charge flowing in 2
minutes in a wire of resistance 102 when a
potential difference of 20 V is applied between
its ends

A. 120C

B. 240C

C. 20C

D. 4C

Answer: B

‘ o Wiak lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_1zfYuk15W0Dj
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7.When length of a metal wire is doubled and

area of cross-section is reduced to half then

the resistance will be

A. Double

B. Four times

C. No change

D. Half

Answer: B

| s |


https://dl.doubtnut.com/l/_1zfYuk15W0Dj
https://dl.doubtnut.com/l/_KU1EMyXy4Peq

| ¥ Watch Video Solution ]

8. For series combination total resistance R

will be:

B.R = RiRyR;. . ...
CR— — 4 — 4 2
“—EtEm Rt

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KU1EMyXy4Peq
https://dl.doubtnut.com/l/_3hiRxIBzDkwC

9. The resistance between points A and C in

the given figure is:

A. 3()

B. 402

C. 2Q)


https://dl.doubtnut.com/l/_3hiRxIBzDkwC
https://dl.doubtnut.com/l/_vSRt6SDdoUKm

D. 812

Answer: C

° Watch Video Solution

10. With increase in temperature, the

resistivity of a conductor

A. Does not change

B. May increase or decrease

C. Decreases


https://dl.doubtnut.com/l/_vSRt6SDdoUKm
https://dl.doubtnut.com/l/_ysihW1HYr8Ex

D. Increases

Answer: C

° Watch Video Solution

11. When length of a metal wire is doubled and
area of cross-section is reduced to half, then

its resistance becomes

A. half

B. double


https://dl.doubtnut.com/l/_ysihW1HYr8Ex
https://dl.doubtnut.com/l/_KfkNrp3e66yj

C. four times

D. No changes

Answer: C

° Watch Video Solution

12. The S.I. unit of resistivity is

A. Q)

B.QQ — m


https://dl.doubtnut.com/l/_KfkNrp3e66yj
https://dl.doubtnut.com/l/_lzjzsOi85ABU

D. A

Answer: B

o Watch Video Solution

13. The effective resistance (in 1) between P

and R of letter A containing resistances as


https://dl.doubtnut.com/l/_lzjzsOi85ABU
https://dl.doubtnut.com/l/_RCl2mCxnsPbk

shown in the figure is:

10Q

10Q2

Q

10Q

100

1092

160

C.40

D. 60



https://dl.doubtnut.com/l/_RCl2mCxnsPbk

Answer: B

o Watch Video Solution

14. What is equivalent resistance between the
points A and B of an infinite network of

resistance will be

A. infinite


https://dl.doubtnut.com/l/_RCl2mCxnsPbk
https://dl.doubtnut.com/l/_S5sZYYiBZSo3

B. zero

C. 22

1+ /5

Answer: D

o Watch Video Solution

15. With the increase of temperature, the

resistivity of a semiconductor

A. Decrease


https://dl.doubtnut.com/l/_S5sZYYiBZSo3
https://dl.doubtnut.com/l/_9TyhorYUaJ8u

B. Increase

C. My increase or decrease

D. Does not change

Answer: A

o Watch Video Solution

16. How does the resistance of a metallic wire

depend on its temperature ?

A. length


https://dl.doubtnut.com/l/_9TyhorYUaJ8u
https://dl.doubtnut.com/l/_QFPG1WJXgOTB

B. temperature

C. cross-section area

D. volume

Answer: B

o Watch Video Solution

17. Kirchhoff's first rule is based on .........

A. Law of conservation of energy

B. Law of conservation of momentum


https://dl.doubtnut.com/l/_QFPG1WJXgOTB
https://dl.doubtnut.com/l/_nwQL9hUOSnBf

C. Law of conservation of electric charge

D. Principle of quantisation of charge

Answer: C

° Watch Video Solution

18. UNIT OF ELECTRIC CURRENT

° Watch Video Solution

19. The S.I. unit of resistance is


https://dl.doubtnut.com/l/_nwQL9hUOSnBf
https://dl.doubtnut.com/l/_20Afi8tboqPn
https://dl.doubtnut.com/l/_WNuKXx2Np238

° Watch Video Solution

20. How much current is flowing through a

1k resistor when a potential difference of 2V

is applied across its end ?

A 2uA

B. 2mA

C.2A

D. 1A

Answer: B


https://dl.doubtnut.com/l/_WNuKXx2Np238
https://dl.doubtnut.com/l/_QMAeJdO6qxGr

° Watch Video Solution



https://dl.doubtnut.com/l/_QMAeJdO6qxGr

